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P = 5105101 + 406687
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P = 5105101 + 406697

2P + 1 =2(510510n + 406697) + 1 = 1021020n + 813394 + 1 = 10210201 + 813395
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Q=406699 0000
P = 510510 + 406699

2P 4+ 1 = 2(510510n + 406699) + 1 = 1021020n + 813398 + 1 = 1021020n + 813399
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Q =406709 0000
P = 510510n + 406709

2P + 1 = 2(510510n + 406709) 4+ 1 = 10210201 + 813418 + 1 = 10210201 + 813419
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gboboobogobooboboobboobbooobuoonooboon
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2P + 1 = 2(510510n + 406711) 4+ 1 = 10210201 + 813422 + 1 = 10210201 + 813423
0000010210200 20 2003,5,7,11,13,17000000 10000000

813423 = 3 x 13 x 20857 x 1
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2P + 1 = 39(26180n + 20857)
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Q=4067170000
P = 510510n + 406717

2P + 1 =2(510510n + 406717) + 1 = 1021020n + 813434 + 1 = 1021020n + 813435
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2P + 1 =2(510510n + 406723) + 1 = 10210201 + 813446 + 1 = 1021020n + 813447
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2P 4+ 1 =2(510510n + 406727) + 1 = 1021020n + 813454 + 1 = 1021020n + 813455
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P = 510510n + 406729

2P + 1 = 2(510510n + 406729) 4+ 1 = 10210201 + 813458 + 1 = 10210201 + 813459
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813459 = 3 x 263 x 1031 x 1
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2P + 1 = 2(510510n + 406739) + 1 = 10210201 + 813478 + 1 = 10210201 + 813479
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2P + 1 = 2(510510n + 406741) 4+ 1 = 10210201 + 813482 + 1 = 10210201 + 813483
0000010210200 20 2003,5,7,11,13,17000000 10000000
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P = 510510n + 406751

2P 4+ 1 =2(510510n + 406751) + 1 = 1021020n + 813502 + 1 = 10210201 + 813503
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813503 = 813503 x 1
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P = 510510n + 406753

2P + 1 = 2(510510n + 406753) 4+ 1 = 10210201 4 813506 + 1 = 10210201 + 813507
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2P + 1 = 3(340340n + 271181)
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gboboobogoboobboobboobobooobuoonobaon

212



Q=406787 0000
P = 5105100 + 406787

2P + 1 = 2(510510n + 406787) 4+ 1 = 10210201 + 813574 + 1 = 10210200 + 813575
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Oo0OdoO0ooOOo3Oo0b0b00o0oobdbooboo0ooooooobDOooDobDobooooooog
goog

Q=406789 0000
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2P + 1 = 2(510510n + 406789) + 1 = 10210201 + 813578 + 1 = 10210201 + 813579
0000010210200 20 2003,5,7,11,13,17000000 10000000
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2P + 1 = 39(26180n + 20861)
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P = 510510n + 406799

2P + 1 = 2(510510n + 406799) 4+ 1 = 10210201 + 813598 + 1 = 10210201 + 813599
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Q =4068070000
P = 510510n + 406807

2P + 1 = 2(510510n + 406807) 4+ 1 = 10210201 + 813614 + 1 = 10210200 + 813615
0000010210200 20 2003,5,7,11,13,17000000 10000000
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oooo
2P + 1 = 165(6188n + 4931)
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Q=4068110000
P = 510510n + 406811

2P + 1 = 2(510510n + 406811) 4+ 1 = 10210201 + 813622 + 1 = 10210201 + 813623
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813623 = 813623 x 1
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2P + 1 = 510510m + 303113
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2P + 1 =2(510510n + 406817) + 1 = 1021020n + 813634 + 1 = 10210201 + 813635

0000010210200 20 2003,5,7,11,13,17000000 10000000
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Q=4068230000
P = 510510n + 406823

2P + 1 = 2(510510n + 406823) + 1 = 10210201 4 813646 + 1 = 10210201 + 813647
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813647 = 813647 x 1
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2P +1 = 510510m + 303137
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Q=406829 0000
P = 510510n + 406829

2P 4+ 1 = 2(510510n + 406829) + 1 = 1021020n + 813658 + 1 = 10210201 + 813659
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P = 510510n + 406831

2P 4+ 1 =2(510510n + 406831) + 1 = 1021020n + 813662 + 1 = 10210201 + 813663
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813663 = 3 x 3 x 90407 x 1
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P = 510510n + 406837

2P 4+ 1 =2(510510n + 406837) + 1 = 1021020n + 813674 + 1 = 1021020n + 813675
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Q=406841 0000
P = 510510n + 406841

2P + 1 = 2(510510n + 406841) 4+ 1 = 10210201 + 813682 + 1 = 10210201 + 813683
0000010210200 20 2003,5,7,11,13,17000000 10000000

813683 = 13 x 62591 x 1

oooo
2P + 1 = 13(78540n + 62591)
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Q=4068430000
P = 510510n + 406843

2P 4+ 1 =2(510510n + 406843) + 1 = 10210201 + 813686 + 1 = 1021020n + 813687
oo0o00o10210200 20 2003,5,7,11,13,17000000 10000000

813687 =3 x 7 x 38747 x 1

oooo
2P + 1 = 21(48620n + 38747)
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Q=4068490000
P = 5105100 + 406849

2P 4+ 1 =2(510510n + 406849) + 1 = 1021020n + 813698 + 1 = 10210201 + 813699

0000010210200 20 2003,5,7,11,13,17000000 10000000

813699 = 3 x 3 x 3 x 30137 x 1
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2P + 1 = 3(340340n + 271233)
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Q=4068530000
P = 510510n + 406853

2P + 1 =2(510510n + 406853) + 1 = 1021020n + 813706 + 1 = 1021020n + 813707
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813707 = 813707 x 1
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2P +1 = 510510m + 303197
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Q=406859 0000
P = 510510n + 406859

2P + 1 = 2(510510n + 406859) + 1 = 10210201 + 813718 + 1 = 10210201 + 813719
0000010210200 20 2003,5,7,11,13,17000000 1000000

813719 = 31 x 26249 x 1
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2P +1 = 510510m + 303209
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Q=406867 0000
P = 510510n + 406867

2P 4+ 1 =2(510510n + 406867) + 1 = 1021020n + 813734 + 1 = 10210201 + 813735

0000010210200 20 2003,5,7,11,13,17000000 10000000

813735 =3 x 3 x5 x 13 x 13 x 107 x 1

oooo
2P + 1 = 195(5236n + 4173)
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Q=406871 0000
P = 510510n + 406871

2P 4+ 1 =2(510510n + 406871) + 1 = 1021020n + 813742 + 1 = 1021020n + 813743
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Q=4068730000
P = 5105100 + 406873

2P + 1 = 2(510510n + 406873) 4+ 1 = 10210201 4 813746 + 1 = 10210200 + 813747
0000010210200 20 2003,5,7,11,13,17000000 10000000

813747 = 3 x 11 x 24659 x 1
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2P + 1 = 33(30940n + 24659)
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Q =4068770000
P = 5105100 + 406877

2P + 1 = 2(510510n + 406877) + 1 = 1021020n + 813754 + 1 = 1021020n + 813755
0000010210200 20 2003,5,7,11,13,17000000 10000000

813755 =5 x 162751 x 1

oooo
2P + 1 = 5(204204n + 162751)
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Q=406883 0000
P = 510510n + 406883

2P + 1 =2(510510n + 406883) + 1 = 1021020n + 813766 + 1 = 1021020n + 813767

0000010210200 20 2003,5,7,11,13,17000000 1000000
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Q=4068910000
P = 5105100 + 406891

2P + 1 =2(510510n + 406891) + 1 = 1021020n + 813782 + 1 = 1021020n + 813783

0000010210200 20 2003,5,7,11,13,17000000 10000000

813783 = 3 x 271261 x 1
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2P + 1 = 3(340340n + 271261)
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Q=4068970000
P = 5105101 + 406897

2P + 1 =2(510510n + 406897) + 1 = 1021020n + 813794 + 1 = 1021020n + 813795

0000010210200 20 2003,5,7,11,13,17000000 10000000

813795 =3 x 5 x 227 x 239 x 1

oooo
2P + 1 = 15(68068n + 54253)
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good

Q =4069070000
P = 5105101 + 406907

2P 4+ 1 =2(510510n + 406907) + 1 = 1021020n + 813814 + 1 = 1021020n + 813815

0000010210200 20 2003,5,7,11,13,17000000 10000000

813815 =5 x 37 x 53 x 83 x 1
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2P + 1 = 5(204204n + 162763)
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P = 5105101 + 406909

2P 4+ 1 =2(510510n + 406909) + 1 = 1021020n + 813818 + 1 = 10210201 + 813819
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Q=4069190000
P = 510510n + 406919

2P + 1 = 2(510510n + 406919) 4+ 1 = 10210201 + 813838 + 1 = 10210201 + 813839
0000010210200 20 2003,5,7,11,13,17000000 10000000

813839 = 13 x 62603 x 1

oooo
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Q=4069210000
P = 510510n + 406921

2P 4+ 1 =2(510510n + 406921) + 1 = 10210201 + 813842 + 1 = 10210201 + 813843
oo0o00o10210200 20 2003,5,7,11,13,17000000 10000000

813843 =3 x 3 x 31 x2917x1
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2P + 1 = 3(340340n + 271281)
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Q=4069270000
P = 5105100 + 406927

2P 4+ 1 =2(510510n + 406927) + 1 = 1021020n + 813854 + 1 = 1021020n + 813855
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Q=4069330000
P = 510510n + 406933

2P + 1 = 2(510510n + 406933) + 1 = 10210201 + 813866 + 1 = 10210201 + 813867
0000010210200 20 2003,5,7,11,13,17000000 10000000

813867 = 3 x 271289 x 1
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2P + 1 = 3(340340n + 271289)
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Q=4069370000
P = 510510n + 406937

2P 4+ 1 = 2(510510n + 406937) + 1 = 10210200 + 813874 + 1 = 10210201 + 813875
0000010210200 20 2003,5,7,11,13,17000000 10000000

813875 =5 xHxHx17x383 x1
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2P 4+ 1 = 85(12012n + 9575)
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Q=4069430000
P = 510510n + 406943

2P + 1 = 2(510510n + 406943) + 1 = 10210201 + 813886 + 1 = 10210201 + 813887
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Q=4069510000
P = 510510n + 406951

2P + 1 = 2(510510n + 406951) 4+ 1 = 10210201 + 813902 + 1 = 10210201 + 813903
0000010210200 20 2003,5,7,11,13,17000000 10000000

813903 =3 x 19 x 109 x 131 x 1
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2P + 1 = 3(340340n + 271301)
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Q=406957 0000
P = 5105101 + 406957

2P + 1 = 2(510510n + 406957) + 1 = 10210201 + 813914 + 1 = 10210201 + 813915
0000010210200 20 2003,5,7,11,13,17000000 10000000

813915 =3 x3x3 xHx6029 x1
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P = 510510n + 406961

2P + 1 =2(510510n + 406961) + 1 = 10210201 + 813922 + 1 = 10210201 + 813923
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P = 5105101 + 406969
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P = 510510n + 406979

2P 4+ 1 = 2(510510n + 406979) + 1 = 10210201 4 813958 + 1 = 1021020n + 813959
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Q=4069810000
P = 510510n + 406981

2P 4+ 1 =2(510510n + 406981) + 1 = 10210201 + 813962 + 1 = 10210201 + 813963
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